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Exercice 3E.1


a. Trouver x et y tels que EQ \o(\s\up10(®);u) = xEQ \o(\s\up10(®);i) + yEQ \o(\s\up10(®);j)

b. Tracer un vecteur EQ \o(\s\up10(®);v) = 3EQ \o(\s\up10(®);i) ​– 2EQ \o(\s\up10(®);j)



EQ \o(\s\up10(®);u) = ……………………………
EQ \o(\s\up10(®);u) = ……………………………
EQ \o(\s\up10(®);u) = ……………………………

Exercice 3E.2


a. Trouver x et y tels que EQ \o(\s\up10(®);u) = xEQ \o(\s\up10(®);i) + yEQ \o(\s\up10(®);j)

b. Tracer un vecteur EQ \o(\s\up10(®);v) = -2EQ \o(\s\up10(®);i) ​+EQ \o(\s\up10(®);j) 







EQ \o(\s\up10(®);u) = ……………………………
EQ \o(\s\up10(®);u) = ……………………………
EQ \o(\s\up10(®);u) = ……………………………

Exercice 3E.3

On considère les vecteurs suivants :

	EQ \o(\s\up10(®);u) = 2EQ \o(\s\up10(®);i) + EQ \o(\s\up10(®);j)
	EQ \o(\s\up10(®);v) = 3EQ \o(\s\up10(®);j)
	EQ \o(\s\up10(®);w) = -2EQ \o(\s\up10(®);i)+ EQ \o(\s\up10(®);j)
	EQ \o(\s\up10(®);x) = 3EQ \o(\s\up10(®);i) + 2EQ \o(\s\up10(®);j)
	EQ \o(\s\up10(®);y) = -3EQ \o(\s\up10(®);i)
	EQ \o(\s\up10(®);z) = EQ \o(\s\up10(®);i) – 3EQ \o(\s\up10(®);j)



Exprimer en fonction de EQ \o(\s\up10(®);i) et  EQ \o(\s\up10(®);j) les vecteurs suivants :
	EQ \o(\s\up10(®);u) + EQ \o(\s\up10(®);v) =

	EQ \o(\s\up10(®);w) – EQ \o(\s\up10(®);x) =

	-3 EQ \o(\s\up10(®);z) =

	EQ \o(\s\up10(®);u) + 2EQ \o(\s\up10(®);v) + 3 EQ \o(\s\up10(®);w) =

	2 EQ \o(\s\up10(®);w) – EQ \o(\s\up10(®);x) + 3 EQ \o(\s\up10(®);z) – EQ \o(\s\up10(®);y) =
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